- You should hand me the answers to Week 13 right at the beginning of the 2nd test (Tuesday, May 24, 18h, Anf 3).
 - The answers should be manuscript (not typewritten) and preferably based on schemes (as I do in the whiteboard). Keep a copy for yourself.
Please write WEEK 13 in bold at the beginning of your answers.
L23: QE
1.Suppose that there are only B1 and B2, and that the Fed sets i1.
a) Which is the risk run by the government and corporations when they fund themselves though two successive B1? Explain.

b)  Which is the risk run by banks when they purchases B2? Explain.

2. Why does the B2d curve have a positive slope?

3.a) Why is the B2s curve vertical at a certain moment in time?

b) In this graph, present the effect of the purchase of $600b of B2 by the Fed.

c) What is the effect on p2 and i2? Explain. Is that what happened as a result of the QE in the first half of 2011?
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d) How do the less risk averse banks react to that? Exaplain.
e) What is then the effect of the QE on the amount of reserves, B1 and B2 held by banks and by the Fed? Is that what happened as a result of the QE in the first half of 2011?
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f) If the demand for credit to fund C and I is inelastic with respect to i2, what happens to the amount of credit granted to households and businesses? And to the money stock, AD and U? Explain.

4. Why didn’t the 2013 US QE have an effect on i10?

L24: ECB’s QE + Dynamic Kaleckian model
QE

5. Explain the mechanisms through wich QE may reduce U and increase inflation.
6. Based on the following graph, what do you conclude about the JP’s QE effectiveness?


ECB’s QE
7. Describe the main features of the current ECB’s QE.
8. What is the effect of the ECB’s purchases of a country’s public debt, on the interest payments of the government of that country? Explain.

9. Banks’ profits fall as a result of the ECB’s QE. Why?
10. The predicted efect of the ECB’s QE on i10 has materialized? Consider as tuypical the caase of France:
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11. Why has Germany insistently opposed to a ECB’s QE?
12. If Southern governments default on the interest payments on the part of their debts bought by the ECB, will German taxpayers be bound to paying higher taxes? Explain.
13. If Southern governments default on the face value of the part of their debts bought by the ECB, will German taxpayers be bound to paying higher taxes in a future date? Explain.

Kaleckian Dynamic Model
14. Which equations distinguish the dynamic from the static Kaleckian model?
Short-term: one quarter

Long-term: successive quarters (t+1, t+2, t+3, etc.)

15. Explain the effect of a reduction in the unit profit margins on aggregate profits in the short-term. Is that a paradox? Explain.
16.Explain the effect of a reduction in the unit profit margins in period t on aggregate profits in period t+1. Is that a greater paradox than the preceding one? Explain.

17. Explain the effect of a reduction in the marginal propensity to save on aggregate saving in the short-term. Is that a paradox? Explain.

18.Explain the effect of a reduction in the marginal propensity to save in period t on aggregate saving in period t+1. Is that a greater paradox than the preceding one? Explain.
